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QUESTION 1

Which protocol allows to access a controller\\'s CLI interface? 

A. SSH 

B. NTP 

C. TFTP 

D. IMAP 

Correct Answer: A 

 

QUESTION 2

Which information-gathering command should you use to gather logs for troubleshooting switch information for your
Brocade switches? 

A. cfgshow 

B. fabricshow 

C. configshow 

D. supportsave 

Correct Answer: B 

 

QUESTION 3

On a FAS8040, which port is used for FCoE connections? 

A. e0M 

B. e0P 

C. 0a 

D. e0h 

Correct Answer: D 

 

QUESTION 4

You have a 4-node FAS8040 cluster licensed for FCP and iSCSI. Each node has both FC and iSCSI LIFs. One of your
Windows 2012 Servers has a single 8Gb FC port and a single 10 Gb Ethernet port with switched connectivity to the FC
and Ethernet ports on the cluster. You need to use both ports on the host for multipath access to a LUN on the NetApp
cluster. 
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What will accomplish this task? 

A. NetApp Data ONTAP DSM for Windows MPIO 

B. FCoE HBA 

C. iSCSI HBA 

D. native Windows MPIO 

Correct Answer: A 

 

QUESTION 5

You want to prevent an FCoE frame from being split into two Ethernet frames. 

What is the minimum required frame size that will satisfy this requirement? 

A. 9216 

B. 2240 

C. 1512 

D. 9000 

Correct Answer: B 
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